AE[Ql2|A AE H{AIE T8l0]

&5

HY/MIE o[0IX]|

© HEINRICH KIPP WERK GmbH & Co. KG

oli= AEjOIa|A AE

A s

=3

It

My

HE&3:

2Z EIg 0|83stod HT o ZP0|E 27HE CHY & giol WaT ZHE
5t AZE = U&LICH

xHxl

AHIQIEIA AR AXY F2E LU FAHE

EHOF2|

5t % & FAIHE, AAM 0rFE|

EM7E 3~12mme! E
AE|QIFA AEID ZH

=40 =tk Z2[0|E ALO[od| 0.1mm 0|4 9| 7+ 0| |CH
H=0flo|M A2|:

2Z g 028 Z8o|Eo| LIAITF CHE ZolM EY 7 R| E2I4
Al2.

HEZ F21 2Z EIS AT 7138 Ho|A E8[0|E0 77[RAAIL.
F ECOIEVHEE MK 2L ES CE WEo R E2|1 7H2H
HEZ n™sAAR

=0 Moy,

1) 02 % E80|E

2) HlolA EC0|E

www.kipp.com - info@kipp.com 1/3



o

AH|Ql2|A AETHAIE J8|0] Q= 2HIRIZ[ A AE 2T F
=M

D2

D3

SlE SW
= Y ™=
2 -t 2 [
o —
! SWw1 Hﬁl

HolA EBI0|ESl 1Y FH:

D1:U,1

ik
i)
34
mlo

520
2Y T, Af2l2|A AR
FEHS D D1D2D3 H H1 H2H3 L L1 L2 M SW sw1 T T1 2 XM R&HH dtZd: FEHF I
N kN kN N
K1565.173 6,5 6,5 23 6,540 32 55 4 125 6,5 105 M12x1 10 19 3-8 3 <180°C 30 0,2 0,15 3
K1565.176 6,5 6,5 23 6,537 29 55 4 125 95 1356 M12x1 10 19 3-8 6 <180°C 30 0,2 0,15 3
K1565.193 858,532 10 51 415 7 4 16565 11 M16X1 14 24 3-12 3 <=180°C 60 0,4 0,3 6
K1565.196 8,585 32 10 48 385 7 4 16,595 14 M16X1 14 24 3-12 6 <180°C 60 0,4 0,3 6

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



| K1565 e

AHQIE|A AE HAE TIEI0] U= AHQIEIA AR 2T

rir
Il

ES 9%

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



